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ENGLISH  - 40 

(Grammar-20) 

1) Tick the correct option to complete the following sentences:                            1×8=8 

 

i) Plural form of                                                     ‘Shelf’ is –  

        

    a) Shelfs [   ]         b) Shelves [   ]        c) Shelfes [   ]        d) None of these [   ] 

 

ii) The verb after ‘Shila’ will be- 

    a) is [   ]    b) am [   ]   c) being [   ]   d) are [   ] 

 

iii) ‘It’ is a boy.’ – The underlined word in the sentence is a – 

         a) Noun [   ]     b) Adverb [   ]    c) Pronoun [   ]   d) Adjective [   ] 

 

iv) The past form of the verb ‘sing’ is – 

         a) Sang [   ]   b) Sung [   ]      c) Shang [   ]    d) None of these [   ] 

 

v) The feminine gender of the word ‘cow’   is – 

 

         a) Ox [   ]     b) Fecow[   ]                 c) Oxen [   ]               d) None [   ] 

 

vi) ‘It is __________university of Burdwan’. ’the article in the blank will be – 

 

           a) a [   ]         b) an [   ]              c) the  [   ]         d) None [   ] 

 

vii) ‘I am going to school’. The sentence is written in –  

           a) Present Continuous  [   ]      b) Past [   ]        c) Perfect [   ]     d) Future [   ] Tense 

 

viii) ‘We write __________   Pen’. The preposition in the blank will be - 

        

           

           a) with [   ]          b) by [   ]   c) to [   ]    d) None [   ] 

 

2). Fill in the blanks with the correct verbs:                                                   1x4 = 4 

    i) They _______________________________________ absent yesterday. 

    ii) All ________________________________ present today. 

   iii) Babu ____________             _____________________(come) just now. 

  iv) It________________           __________________(rain)today. 

 3. Do as directed                                       2x4=8 
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 i) ‘Water’__________________ kind of Noun  ?    

Ans.___________________________.              

 ii) What type of sentence  is ‘open the door please.’  

  Ans:- ________________________________________________   

 iii) Add punctuation  marks to the sentence & rewrite–  ‘how much is this pen’  

 Ans:- __________________________________________________________ 

 iv) Write an example of ‘strong verb’ .  

Ans:____________________________________________  

(Vocabulary-10) 

4) A. Choose the correct Answer :--                                                                                           1x4 =4 

    i) The picture is –  

 

             (a)potato                       (b) papaiya                                (c)gourd                       (d) brinjal 

    (ii)   

          The picture ____________?     

(a) Fruit                    (b)Vegetables                       (c)Pulse                        (d)All of these 

    (iii) To sweep___________________ is used . 

             (a)bucket                     (b) broom                           (c)dish                            (d) bowl 

   (iv) The ‘Vehicle’ of desert’ is --- 

             (a)Ship                         (b)Dog                           (c)Camel                             (d)Horse 

B.  Fill in the blanks with the correct words :-                           1x2 =2 

   (i) ERMAST :_____________________________________________ 

   (ii) BNAAAN :_______________________________________________ 

C. Do as directed                            2x2=4 

    (i) The babies of ‘dog’ is called ?                                                                                                                             

   Ans.____________________________________________________ 

   (ii) ‘The cry of lion’ is called ?    
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      Ans._____________________________________________________ 

(Spoken Expression-10) 

 A) Tick the correct answer :--                                           1x4=4                                                                                             

  (i) Morning=Good morning! Night =___________ ? 

           (a)Sweet Night!         (b) Good Night!          (c)Very good Night !           (d) Night to you!   

 (ii)  To give permission ___________used-                                                

           (a) Sir, I will come                                                               (b) May I come in sir /madam?             

           ( c) Hello may come!                                                           (d)  You may go. 

(iii)   ‘How much = Money , How long=_______________?                                                                                     

           (a)Distance                 (b) Time           (c) Counting             (d) All of these. 

iv) ‘Have a good Day!’ for =___________? 

            (a) Evening!                 (b) Day!         

            (c) Morning!             (d) All of these  

B.  Fill in the blanks with the correct answer :-                                 1x2 =2 

 (i) ‘___________   ! This is Amal.’ ( to introduce) 

(ii) ‘_____________    _____________live long!’ (for wish) 

C. Do as directed                              2x2=4 

   i)   

  Express the time in English. 

 

  Ans.________________________________________________________________________ 

  (ii) Friend: Do you have any pen? 

        Me:  ___________________________________?  

 

GENERAL SCIENCE -20 
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1) সঠিক উত্তরটি নিবোচি কর্রা –                                                                               1x6=6 

 A)ভূররয কোজ ঴র- 

      a)ভোটি রথরক জর র঱োলণ                   b)ভোটিরক ঱ক্ত করয ধরয যোখো 

      c)ভোটি রথরক ঩ুরিদ্রফয র঱োলণ                d)঳ফগুরর  

 B)টরভরটো ঴র টরভরটো গোরছয – 

     (a)  কোণ্ড                  (b)    ভূর                     (c)  ঩োতো                     (d) পর  

 C) ঩ৃরি্ফীয রভোট জররয কত ঩রযভোন রফশুদ্ধ (রভঠো)জর ? 

            (a) 97%                  (b) 1%                        (c) 50%                     (d) 3% 

 D) জরর থোকো আর঳েরনরকয উৎ঳ ঴র – 

    (a) করকোযখোনোয ফজে য                 (b)  ঳োয             (c)  প঳রপট ঩োথয          (d) ঳ফগুরর  

 E)঩ৃরথফীয ঳কর ঱রক্তয উৎ঳ ঴র – 

           (a) ঳ূূ্মে                                   (b)   জর                  (c)  ফোতো঳                     (d) ভোনুল 

 F) ফোূ্য় ুফোূ্র঴ত রযোগ ঴য় রকোন গুররয জনয   

           (a) বোইযোর঳য জনয    (b) ছত্রোক        (c)   বোইযো঳,ফযোকরটরযয়ো ও  ছত্রোক        (d) ফযোকরটরযয়ো 

2) অনি সংর্ের্ে দ-ুএক কথায় উত্তর দাও :                                                                    1x6=6 

 A)঩োতোয় রক থোরক মোয পরর ঩োতো ঳ফুজ ফরণেয ঴য় ? 

  Ans:-  

  B) বোযতফরলেয চোযটি ঋতুয নোভ ররখ : 

  Ans:- 

  C) ফোয় ুদলূরণয কোযন রক ? 

  Ans:-   

 



 

P a g e  |COM/II- 7 
 

 D)঱রক্তয রফরবন্ন উৎ঳গুররয নোভ রররখো৷ 

   Ans:-  

 E)ভোটিয রতনটি প্রকোয রবরদয নোভ ররখ I 

  Ans:-  

 F)রকোন রকোন ভো঳ রনরয় বোযতফরলে ঱ীতকোর ঴য় ?  

  Ans:-  

3) সংর্ের্ে নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও :-                                                          2X4=8 

 A)জর ফোর঴ত রযোগ রক ? 

  Ans:-   

 

 B)রফদযুৎ রক ? 

  Ans:-  

 

 C)রভঘ রকবোরফ ফৃরি ঘটোয় ? 

  Ans:-   

 

  D) ঱রক্ত রক ? 

  Ans:-   
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MATHEMATICS - 40 

A) সঠিক উত্তরটি নিবোচি কর্রা :                                                                          1X14=14 

 1)রমোগপর রররখো- 

                                  

          (a)১০                         (b)৮                            (c)৯                             (d) ৭ 

 2)পোাঁকো ঘরয ঳ংখযো রররখো :- _____________ +৬ = ৯ 

          (a) ১                     (b) ২                                (c) ৩                                 (d) ৪ 

 3)                

                  রচত্রটিরত কয়টি ফোহু আরছ ? 

          (a) ৪টি                   (b) ৫ টি                            (c) ৬  টি                          (d) ৭ টি     

  4) ৩ টি ফযরঙয রভোট কয়টি ঩ো আরছ ? 

        (a) ৪টি                   (b) ৬ টি                            (c) ৮  টি                          (d) ১২ টি     

  5) পোাঁকো জোয়গোয় ঳ঠিক ঳ংখযো ররখ - 

 

 

       (a) ১                     (b) ২                            (c) ৩                          (d) ৪ 

 6) রকোনটি রত্রবুজ ? 

 

       (a)  EFGH                (b)   PQR                              (c)    ABCD                           (d) IJKLMN 

  7) এটি রকোন আকৃরত ? 

 

      (a) রত্রবুজ                     (b)    রচোঙ                             (c)    রগোরক                          (d)  ফগেরেত্র  

 8) ১১ এয রথরক ৫ রফ঱ী ঴র ________________ . 

      (a) ৬                   (b) ৫৫                           (c) ১৬                        (d) ১৫ 

+ 
=  __________ 

৪ 

১ ৩ 

৮ 

 
২ ৬ 

৭ 

৫ ? 

Q R 

A 

D 

B 

C 

H 

E 

G 

F 

P 

I J 

K 

L 
M 

N 
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 9)অ্যোফোকোর঱ রকোন ঳ংখযো রদখোরনো ঴রয়রছ ? 

 

 

 

 

       (a) ৬৫                   (b) ৬৪                     (c) ৬৩                     (d) ৫৬ 

 10)রকোন ছরফরত রভঠী ফর঳রছ রততরর ও তুতুররয ভোঝখোরন ? 

              

 

 

 11)রকোনটি ফে রথরক রছোরটো ঳োজোনো আরছ -  

    a)১০,১২,১৫,১৩     b)১০,৯,৮,৭     c)১০,১৬,১৭,১৮    d)২০,১৯,১৭,২৫ 

 12)২ x ১০ +১৮ x ১= ? 

    (a) ২৮                       (b) ৩৮                         (c) ২০৮                       (d) ২১৮ 

 13)ভরিয ২৪ টো ফর রছর তো রথরক ও রফোনরক ২টো ফর রদরয় রদর৷ভরিয কোরছ এখন কটি ফর   
    যইর ? 
    (a) ২২ টি                (b) ২০ টি                      (c) ১৮ টি                     (d) ২১ টি    

  14)গোছটি কতটো উাঁচু ?  

 

  

 

     (a) ২ একক              (b) ৩ একক                         (c) ৪ একক                       (d) ৫ একক    

B) নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও:-                                                                        2X7=14 

 1) ছ ার্ া ছথর্ক বড় সাজাও :- ৬১, ৬৩, ৭৩, ৭১, ৬০ 

  Ans:-  

 2)৭২=_____________ x ১০ +____________ x ১ 

রভঠী রততরর তুতুর রভঠী তুতুর  রততরর 

রততরর রভঠী তুতুর রততরর তুতুর রভঠী 

a)      b  ) 

c ) d ) 

১ 
২ 

_

_

_

_

_

-

-

-

-

- 

০একক  

৩ 
৪ 
৫ 
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 3)ছজাড় ঳ংখযোগুরররক ছ াল কয :  

 ২০,  ২৫,  ২৮,  ৩১,  ৩৭,  ৫৯,  ৬৬,   ৮৮,  ৮৯, 

 4)এগুরর ফছরযয কি িম ভো঳ ? 

     নির্সম্বর ________________                  মাচে  _____________________ 

 5)঱ূনযস্থোরন ঠিক ঳ংখযো ফ঳োও- 

    ২০,  ১৮,  ১৬,  ১৪, _______,১০,  ৮ 

 6)বৃহত্তম ও েুদ্রিম খুাঁরজ রফয কয :- ২৮,  ৭৫,  ৫৬,  ১৮,  ৮১ 

    ফৃ঴ত্তভ ______________       েুদ্রতভ _____________ 

 7)২৬ + ০ = ___________ ? 

C) নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও:-                                                                        3×4=12  
 1)঳ংখযোয় রররখো : a) ঩োাঁচ ঴োজোয ঩োাঁচ ঱ত লোট ।   
  কথোয় রররখো :  b) ৬৭২৪৯০  
   
 
 
 2)৪৫৬৭ ঳ংখযোটিরত ৪ ও ৬ এয স্থোনীয় ভোন কত ?  
 
  
 
 3)মরদ ৬০ রভরনট = ১ ঘণ্টো ঴য়, তরফ ১ রদন = ______________ রভরনট । 
  
 4) ৭৭ × ১১ – ৬ × ৪ + ৩  
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